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M. Com. (Fourth Semester) (Main/ATKT)  

EXAMINATION, May-June, 2020 

(Optional—Specialization) 

Optional Group—C (Banking and Insurance) 

Paper Fourth (C) 

GENERAL INSURANCE 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 
 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  
(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 
(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- chek dk vuqcU/k ,d ------------------- le>kSrk gSA 

¼v½ vkdfLed 
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¼c½ lrr~ 

¼l½ nksuksa ¼v½ ,oa ¼c½ 

¼n½ buesa ls dksbZ ugha 

A contract of insurance is a ............... agreement. 

(a) Contingent 

(b) Constant 

(c) Both (a) and (b) 

(d) None of these 

2- chek ;ksX; fgr dk vFkZ gS % 

¼v½ O;fDrxr fgr 

¼c½ lkekftd fgr 

¼l½ ekSfnzd fgr 

¼n½ mi;qZDr lHkh 

Insurable interest means : 

(a) Individual interest 

(b) Social interest 

(c) Monetary interest 

(d) All of these 

3- tksf[ke dk vk/kkj gS % 

¼v½ ns;rk 

¼c½ vfuf’prrk 

¼l½ gkfu dh lEHkkouk 

¼n½ chek 
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The basis of risk is : 

(a) Liability 

(b) Uncertainty 

(c) Possibility of loss 

(d) Insurance 

4- -------------------- fl)kUr dk vFkZ gS] chfer O;fDr viuh gkfu ij ykHk 

vftZr djus dk gdnkj ugha gSSA 

¼v½ ije ln~fo’okl 

¼c½ {kfriwfrZ 

¼l½ izR;klu 

¼n½ vklUu dkj.k 

.............. principle means that the insured is not entitled to 

make a profit on his loss. 

(a) Utmost good faith 

(b) Indemnity 

(c) Subrogation 

(d) Proximate cause 

5- tc fdlh fo”k; oLrq dk chek mlds okLrfod ewY; ls vf/kd jkf’k 

dk fd;k tkrk gS] rks bls dgrs gSa % 

¼v½ iquchZek 

¼c½ nksgjk chek 

¼l½ vf/k chek 

¼n½ buesa ls dksbZ ugha 
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When the amount for which a subject matter is insured is 

more than its actual value, it is called : 

(a) Re-insurance 

(b) Double-insurance 

(c) Over insurance 

(d) None of these 

6- ------------ dk vFkZ fQj ls chek djuk gSA 

¼v½ iquchZek 

¼c½ nksgjk chek 

¼l½ lg chek 

¼n½ vf/k chek 

............. mans insuring again. 

(a) Re-insurance 

(b) Double insurance  

(c) Co-insurance 

(d) Over-insurance 

7- chek dk tksf[ke gS % 

¼v½ fuf’pr 

¼c½ vfuf’pr 

¼l½ nksuksa ¼v½ ,oa ¼c½ 

¼n½ buesa ls dksbZ ugha 
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In insurance the risk is ............ 

(a) Certain 

(b) Uncertain 

(c) Both (a) and (b) 

(d) None of these 

8- Kkr dhft, fd fn;s x;s dFkuksa esa ls dkSu lk dFku xyr gS % 

¼v½ ,d laxBu dh igpku mlds dk;ks± ls gksrh gS A 

¼c½ ,d laxBu dh igpku ml bekjr ls gksrh gS ftl ij og 

jgrk gSA 

¼l½ ,d laxBu eqdnek dj ldrk gS vkSj ml ij eqdnek pyk;k 

tk ldrk gSA 

¼n½ ,d laxBu lEifŸk dk ekfyd gks ldrk gSA 

Find out which of the given statements is incorrect : 

(a) An organization is identified by its actions 

(b) An organization is identified by the building it 

occupies 

(c) An organisation can sue and be sued  

(d) An organisation can own assets 

9- leqnzh chek ------------------ ds uqdlku ;k {kfr dks doj dj ldrk gSA 

¼v½ tgkt 

¼c½ dkxksZ 

¼l½ leqnzh lkgl dk dksbZ vU; fo”k; 

¼n½ mi;qZDr lHkh 
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Marine insurance may cover loss or damage to the ......... 

(a) Ship 

(b) Cargo 

(c) Any other subject of marine adventure  

(d) All of these 

10- leqnzh chek ---------------------- dk ,d vuqcU/k gSA 

¼v½ osru of̀)  

¼c½ {kfriwfrZ 

¼l½ ifjiDork 

¼n½ mi;qZDr eas ls dksbZ ugha 

A marine insurance is a contract of ............... 

(a) Increment 

(b) Indemnity 

(c) Maturity 

(d) None of the above 

11- ------------------- dk vFkZ tgkt ;k iksr ds <k¡ps ,oa mldh e’khujh ls gSA 

¼v½ dkjxks 

¼c½ fdjk;k 

¼l½ irokj 

¼n½ ;k=k 
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........... means the body or frame of the ship or vessel and its 

machinery. 

(a) Cargo 

(b) Fright 

(c) Hull 

(d) Voyage 

12- ---------------- dk lEcU/k fons’kh O;kikj ls gSA 

¼v½ thou chek 

¼c½ xSj thou chek 

¼l½ vfXu chek 

¼n½ leqnzh chek 

............ is concerned with overseas trade. 

(a) Life Insurance 

(b) Non-life insurance 

(c) Fire-insurance 

(d) Marine-insurance 

13- eky ifjogu ds fy, Hkqxrku fd;k tkus okyk ‘kqYd gS % 

¼v½ irokj 

¼c½ dkxksZ 

¼l½ fdjk;k 

¼n½ izhfe;e 
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............... is the charge to be paid to the transportation of the 

goods. 

(a) Hull 

(b) Cargo 

(c) Freight 

(d) Premium 

14- ------------------- chek ds vUrxZr] ykHk uhfr dh gkfu dks ifj.kkeh gkfu 

ikWfylh dgk tkrk gSA 

¼v½ leqnzh  

¼c½ vfXu 

¼l½ lEifŸk 

¼n½ thou 

Under ............. insurance, loss of profit policy is called as 

consequential loss policy. 

(a) Marine 

(b) Fire 

(c) Property 

(d) Life 

15- vkx ls gksus okyk ijkxeu tksf[ke ------------------ ikWfylh ds vUrxZr 

vkrk gSA 

¼v½ vfrfjDr  
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¼c½ ¶yksfVax  

¼l½ ijkxeu  

¼n½ lHkh tksf[ke  

The transit risk caused by fire is covered under ............ 

policy. 

(a) Excess  

(b) Floating  

(c) Transit  

(d) All risk  

16- eksVjokgu vf/kfu;e ds rgr lajfpr lw= ds vuqlkj ?kkrd pksVksa ls 

ihfM+rksa dks eqvkots dk Hkqxrku fd;k tkrk gS % 

¼v½ vk;q ,oa vkfJrksa dh la[;k 

¼c½ vk; ,oa vkfJrksa dh la[;k 

¼l½ vk; ,oa ifjokj dk vkdkj 

¼n½ vk;q ,oa vk; 

As per structured formula under the Motor Vehicle Act, 

victims of fatal injuries are paid compensation on the basis 

of : 

(a) Age and number of dependents 

(b) Income and number of dependents 

(c) Income and size of family 

(d) Age and income. 
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17- Hkkjr esa o”kZ --------------- esa Qly chek ;kstuk vfLrRo esa vkbZA 

¼v½ 1997 

¼c½ 1998 

¼l½ 1999 

¼n½ 2000 

Crop insurance scheme came into existence in India in  

year .............. 

(a) 1997 

(b) 1998 

(c) 1999 

(d) 2000 

18- chek esa mi;ksx fd, x, ^th ,* (GA) ‘kCn dk vFkZ gS % 

¼v½ lkekU; vk’oklu 

¼c½ lkekU; vkSlr 

¼l½ lkekU; lek;kstu 

¼n½ xkj.Vh dk vk’oklu 

The term GA used in insurance means : 

(a) General Assurance 

(b) General Average 

(c) General Adjustment 

(d) Guaranteed Assurance 
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19- fuEufyf[kr esa dkSu&lk fofo/k chek ugha gS \ 

¼v½ pksjh chek 

¼c½ i’kq chek 

¼l½ fu;kZr tksf[ke chek 

¼n½ lkekftd chek 

From the following which is not a miscellaneous insurance ? 

(a) Burglary insurance 

(b) Cattle insurance 

(c) Export risks insurance 

(d) Social insurance 

20- lkekU; chek dEiuh ds fy, vko’;d U;wure pqdrk iw¡th gS % 

¼v½ ` 25 djksM+  

¼c½ ` 50 djksM+  

¼l½ ` 100 djksM+  

¼n½ ` 500 djksM+  

the minimum paid-up capital required for a General 

Insurance Company is : 

(a) ` 25 crores 

(b) ` 50 crores 

(c) ` 100 crores 

(d) ` 500 crores 
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 [k.M&c  

(Section—B) 

vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % bl [k.M ds fdUgha vkB iz’uksa ds mŸkj nks ;k rhu okD;ksa esa 

fyf[k,A izR;sd iz’u 2 vadksa dk gSA 

 Write answer of any eight questions from this Section in 

two or three sentences. Each question carries 2 marks. 

1- chek ds nks izeq[k ykHk crk;sA 

State two major advantages of insurance. 

2- vklUu dkj.k fl)kUr dk vk’k; le>kb,A 

Explain the meaning of the Doctrine of Proximate cause. 

3- vYi chek dh {kfriwfrZ dk ,d mnkgj.k nhft,A 

Give an example of compensation for under insurance. 

4- iquchZek ds rhu ykHk crkb;sA 

State the three advantages of Re-insurance. 

5- leqnzh chek ds v/khu eky dh lEiw.kZ gkfu ds nkos ds lkFk izLrqr 

fd;s tkus okys izi=ksa ds uke crkb;sA 

Name the documents that are required to be submitted with a 

claim for total loss of goods under marine insurance. 
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6- okLrfod iw.kZ gkfu ,oa jpukRed iw.kZ gkfu ds e/; ,d vUrj 

crkb;sA 

State the one difference between actual total loss and 

constructive total loss. 

7- vfXu chek dh dksbZ rhu fo’ks”krk,¡ crkb,A 

Enumerate any three characteristics of fire insurance. 

8- [kqyk ;k py chek&i= D;k gS \ 

What are open or Floating Insurance Policy ? 

9- pksjh chek ds vUrxZr laor̀ tksf[keksa ds uke crkb;sA 

Name the risks covered under burglary insurance. 

10- fu”Bk xkjaVh chek ls D;k vfHkizk; gS \ 

What is meant by Fidelity Guarantee Insurance ? 

 [k.M&l  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % fdUgha vkB iz’uksa ds mŸkj nhft,A izR;sd iz’u 3 vadksa dk gSA 

vf/kdre ‘kCn lhek 75 ‘kCnA 

 Attempt any eight questions. Each question carries 

3 marks. Maximum word limits 75 words. 

1- tksf[ke ds lek/kku dh fofHkUu jhfr;ksa dk foospu dhft,A 

Discuss the different methods of handling risk. 
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2- chek ;ksX; fgr dh ‘krs± le>kb,A 

Explain the conditions of insurable interest. 

3- ykW;M~l chek laxBu dh fo’ks”krk,¡ crkb;sA 

Discuss the characteristics of Loyds Insurance Organization. 

4- nksgjk chek ,oa iquchZek esa D;k vUrj gS \ 

What are the difference between double insurance and  

re-insurance ? 

5- leqnzh chek ds lanHkZ esa {kfriwfrZ fl)kUr dk foospu dhft,A 

Discuss the principle of indemnity with reference to marine 

insurance. 

6- leqnzh chek ikWfylh }kjk lkekU;r% fdu tksf[keksa dks laòr fd;k tkrk 

gS \ 

What risks are generally covered under a marine insurance 

policy ? 

7- vfXu chek ikWfylh dh egRoiw.kZ ‘krks± dk laf{kIr o.kZu dhft,A 

Describe briefly the main conditions of a fire insurance 

policy. 

8- vfXu chek esa nkok fuiVkjs dh izfØ;k dks la{ksi esa fyf[k,A 

Write the process of settlement of the claims of fire 

insurance in short. 

9- Qly chek dh dfBukb;ksa dk o.kZu dhft,A 

Describe the difficulties of crop insurance. 
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10- vki i’kqchek dh {kfriwfrZ dSls izkIr djsaxs \ 

How do you get live-stock insurance compensation ? 

 [k.M&n  

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’u vfuok;Z gSaA izR;sd iz’u 5 vadksa dk gSA vf/kdre ‘kCn 

lhek 150 ‘kCnA 

 All question are compulsory. Each question carries 

5 marks. Maximum word limit 150 words. 

1- chek ds fofHkUu dk;ks± dh foospuk dhft,A 

Discuss the various functions of insurance. 

vFkok 

(Or) 

chek ;ksX; fgr dk vk’k; ,oa egRo le>kb,A 

Explain the meaning and importance of insurable interest. 

2- iquchZek fdls dgrs gSa \ chekdŸkkZvksa rFkk chferksa dks iquchZek ls D;k 

ykHk gksrs gSa \ 

What is re-insurance ? What are the advantages of re-

insurance to the insurer and the insured ? 

vFkok 

(Or) 

chek laxBuksa ds fofHkUu izdkj D;k gSa \ izR;sd ds lkis{k xq.k&nks”k 

le>kb,A 
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What are the various types of insurance organization ? 

Explain the relative merits and demerits of each. 

3- leqnzh chek ds lanHkZ esa ije ln~fo’okl fl)kUr dh foospuk dhft,A 

Discuss the principles of Utmost Good Faith with reference 

to marine insurance. 

vFkok 

(Or) 

vfXu chek ds izhfe;e fu/kkZfjr djus dh izfØ;k crkb;sA 

State the process of premium computation in fire insurance. 

4- oS;fDrd nq?kZVuk chek esa ‘kkfey gksus okyh tksf[keksa dks crkb,A 

dkSu&dkSu lh tksf[kesa blds vUnj ‘kkfey ugha dh tkrh gSa \ 

Explain the various risks covered in personal accident 

insurance. What risks are generally excluded ? 

vFkok 

(Or) 

Jfed {kfriwfrZ chek dh izeq[k ‘krs± crkb;sA bldh vko’;drk D;ksa 

gksrh gS \ fu;kstd ds Åij vius deZpkjh ds izfr D;k oS/kkfud 

nkf;Ro gksrs gSa \ 

Describe the main conditions of the workmen’s 

compensation insurance. Why is it needed ? What are the 

statutory liabilities on the employer towards his employees ? 
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